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O ZMHiEe ME2L 6,000& * 1,000% 6,000
O A EIUA(MXIIY E 88)
10,0008 * 8 204 1,600
O ZATE ZAHB 2 (200m)
2,000,000& = 274 4,000
O IAZA EXRY 600,000€ = 13km 7,800
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10,0008 » 24004 2,400
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401 Al HI L E0HHI 20,000 20,000 0
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O =22t E0HD &Y o
68,800& * 10¥  30¥ 20,640
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201 et d| 1,200 600 600
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401 Al HI L 2 0HHI 70,000 121,000 A51,000
01 Al& H| 70,000 121,000 51,000
O szl =sSEIAY
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O sd=2 ol= & &A
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405 KHoHFE S HI 900 900 0
01 XA E B F S| 900 900 0
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= 6,088
Al 14,208
101 Q21| 20,296 18,452 1,844
= 10,148
& 3,044
Al 7,104
04 JIZtHIZ22XNSES 20,296 18,452 1,844
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401 AlEHIZL £ 0HY| 8,000 55,000 AN47,000
01 Al&H| 8,000 55,000 AN47,000
O s2¢dx SJSAY 2317, 282, LR
AL TH 8,000
CZ2H Hals 67,636 75,336 ANT,700
101 Q124 H| 49,536 57,236 ANT7,700
04 JI2ZtHIZ22NEES 49,536 57,236 AT7,700
O J24 L 23S +2YHBLH 22
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O =% gols M o8
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O dolsgd 2532 (=24F=2D] 5)
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2N
X ZH -
L= B
el

23N
SMBHCAEY
SANYS x4

(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O 2+ ¥ JiZ2stdt HollsYH AM-2L
10,000& = 53 = 3004 15,000
O 2+ ¥ JiZ2stdt HollSYHMAHM £ H2
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101 @124l 449,664 441,376 8,288
04012t 22 s 449,664 441,376 8,288
O =37 M4t
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(68,8002 9 x1202 ) +(80,000 x7H 120 ) 141,504
O =231 M= & =57
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O 2EAAEUY HEsE P
140,0008 * 1007H 14,000
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= 1,575
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s 499,500
Al 499,500
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Al 500
e ZE=A22 1,579,012 1,358,970 220,042
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